P3—=77GTK=311W

1500

BN (1/20)
1 2000 2000 P3—7/GTK=311C
205 129, 9@148=1332 129 205 F
1 ] /676.3x13.2
= iy S
iy g hit
Eg pallica
| |
O [@»]
N B2 =
I \ I
Eg \ \ e | B0
O
oL LN \ \ N S |
B \¢4BBXtZ4 \\¢21JXtL9 NEANET o
114.3x14.5 S
= i
D
N
oA (1/4) /
o
Jadyhhr- S| A :
RARME X 29 AVF=2U-7 e 0800
M5X 12 / /¢76‘3>< t3.2
- -
X-A7v- bEER (1/10)
R AL b
BEER M10x 25 Tu-+ t16
. NARMRL b
Rt 4-922
ARNHED ¢ M12x 25 48.6x12.4 3
/] PR
CV L gls
@ | < L/ -
¢ T 4
=
KERHIR 30 | 140 | |30
KBRE AL b “?ﬁg?;f*
M10x 140 200

9114.3xt4.5

P3—77GTK-=311E

P3—77GTK=311PL

Gy - X7D—$@Fﬁ%ﬁi BREBRnYo T LET,

BRES

KUEHEET B

ERBYET,

(@) (@») O
— - —
_.8 - -
0 XNk
D16x 300| o o) = -
| B o
T ) N A &) oL gl oy
o o éﬁ M o2
E : 8 g} 8 —
) | < —
5 SIS U NN BiEH T e 0 MI16R
Sun S 7V n-% L FM16x 190
y Nf’ g — (FyrEP19%&130mm)
250
0400
% % it & IS
x 1 STK400#8% | BB B > S+ HENRER
BEAZL STK400 B o T+ HERRER
F B STK400 B o T+ HERRER
(v +-21-7| SGH400 B S+ HENRRE
FiHL B SGH400 Bipso F+HENRER
48CKC2E | 7V 34% DR
JaAyinn-| 7hi8% DR
NN R SUS M10x 140
RATMODEY H SUS M10x 70 JOv ZXE
NETS RN b SUS M10x 35 JOvZE
AT b SUS M12x 25
Ry SUS M10x25 7oV A®
AARAHEx 29 SUS MOX 12 IEx %Y
N SD 295 D16x 300
TYh-®N b | 4.618% AEEHH-> & M16x 190
BEN TN M16F




